

Trapezium-Type Inequalities for Raina's Fractional Integrals Operator Using Generalized Convex Functions

Miguel Vivas-Cortez ^{1,*}, Artion Kashuri ^{2,†} and Jorge E. Hernández Hernández ^{3,†}

¹ Facultad de Ciencias Exactas y Naturales, Pontificia Universidad Católica del Ecuador, Escuela de Matemáticas y Físicas, Quito, Ecuador

² Department of Mathematics, Faculty of Technical Science, University Ismail Qemali, Vlora, Albania; artion.kashuri@univlora.edu.al

³ Decanato de Ciencias Económicas y Empresariales, Universidad Centroccidental Lisandro Alvarado, Barquisimeto, Venezuela; jorgehernandez@ucla.edu.ve

* Correspondence: mjvivas@puce.edu.ec

† These authors contributed equally to this work.

Received: 25 April 2020 ; Accepted: 12 May 2020 ; Published: 20 June 2020



Abstract: The authors have reviewed a wide production of scientific articles dealing with the evolution of the concept of convexity and its various applications, and based on this they have detected the relationship that can be established between trapezoidal inequalities, generalized convex functions, and special functions, in particular with the so-called Raina function, which generalizes other better known ones such as the hypergeometric function and the Mittag–Leffler function. The authors approach this situation by studying the Hermite–Hadamard inequality, establishing a useful identity using Raina's fractional integral operator in the setting of ϕ -convex functions, obtaining some integral inequalities connected with the right-hand side of Hermite–Hadamard-type inequalities for Raina's fractional integrals. Various special cases have been identified.

Keywords: Hermite–Hadamard inequality; Raina's fractional integral operator; Hölder inequality; power mean inequality; generalized convexity

1. Introduction

In recent decades, the concept of convexity has had a more general evolution due to its wide application in various fields of science, as demonstrated in the following works [1–4]. Among the types of generalized convexity and its applications are some such as h -convexity, MT -convexity, η -convexity, (s, m) -convexity and others, which can be found in the following references [5–9]. Also, the use of special functions, in addition to those involving fractional integral operators, have been related to this topic [6,10–12]. The following inequality, named Hermite–Hadamard inequality, is one of the most famous inequalities in the literature for convex functions.

Theorem 1. Let $f : I \subseteq \mathbb{R} \longrightarrow \mathbb{R}$ be a convex function and $p, q \in I$ with $p < q$. Then the following inequality holds:

$$f\left(\frac{p+q}{2}\right) \leq \frac{1}{q-p} \int_p^q f(x) dx \leq \frac{f(p)+f(q)}{2}. \quad (1)$$

This inequality has remained an area of great interest due to its wide applications, by example in the field of statistics and probability theory [3] and other fields of mathematical analysis [2]. In recent decades, some researchers have studied (1) under the premises of new definitions that have emerged in the development of the concept of convex function. Interested readers see the references [7,13–18].

Fractional calculus has also had a great interest in the scientific community and some applications has been studied by J. Hristov [19], D. Kumar et al. in [20] and K.M. Owolabi in [21]. In conjunction with the study of fractional integral inequalities, a line of research has developed, so that the literature about it has grown as seen in the following papers [5,6,10–12,22–26].

Also, the growing development of the concept of convex function has been related in the field of integral inequalities as shown in the following research papers [8,9,27–30]. From the perspective developed by M. A. Noor, in [7], in relation to ϕ -convex functions, this work establishes some inequalities of the Hermite–Hadamard type.

Motivated by the excellent works mentioned above, we developed the following work establishing Hermite–Hadamard inequality and an identity for Raina's fractional integrals operator via generalized ϕ -convex functions and, from these, some integral inequalities connected with the right-hand side of Hermite–Hadamard type inequalities for Raina's fractional integrals are established.

2. Preliminaries

In the work of Noor, M.A. [7] we find the following definitions related with the notion of ϕ -convexity.

Let K be a non-empty closed set in \mathbb{R}^n , and K° the interior of K . We denote by $\langle \cdot, \cdot \rangle$ and $\|\cdot\|$ the inner product and norm on \mathbb{R} respectively. Let $\phi : K \rightarrow \mathbb{R}$ be continuous mappings.

Definition 1. Let $u \in K$. The set K is said to be ϕ -convex, if there exists a function ϕ such that

$$u + te^{i\phi}(u - v) \in K$$

for all $u, v \in K$ and $t \in [0, 1]$.

Definition 2. A function f defined on the ϕ -convex set K is said to be ϕ -convex, if

$$f(p + te^{i\phi}(q - p)) \leq (1 - t)f(p) + tf(q), \quad \forall p, q \in K, \quad t \in [0, 1].$$

The function f is said to be ϕ -concave iff $(-f)$ is ϕ -convex. Please note that every convex function is ϕ -convex but the converse does not hold in general.

In [31], Raina R.K. introduced a class of functions defined formally by

$$\mathcal{F}_{\rho, \lambda}^{\sigma}(x) = \mathcal{F}_{\rho, \lambda}^{\sigma(0), \sigma(1), \dots}(x) = \sum_{k=0}^{\infty} \frac{\sigma(k)}{\Gamma(\rho k + \lambda)} x^k \quad (2)$$

where $\rho, \lambda > 0, x \in \mathbb{C}$ with $|x| < R$, where R is a real positive constant, and $\sigma = (\sigma(1), \dots, \sigma(k), \dots)$ is a bounded sequence of positive real numbers. Please note that if we take in (2) $\rho = 1, \lambda = 0$ and $\sigma(k) = ((\alpha)_k(\beta)_k)/(\gamma)_k$ for $k = 0, 1, 2, \dots$, where α, β and γ are parameters which can take arbitrary real or complex values (provided that $\gamma \neq 0, -1, -2, \dots$), and the symbol $(a)_k$ denote the quantity

$$(a)_k = \frac{\Gamma(a + k)}{\Gamma(a)} = a(a + 1) \dots (a + k - 1), \quad k = 0, 1, \dots,$$

and restrict its domain to $|x| \leq 1$ (with $x \in \mathbb{C}$), then we have the classical Hypergeometric Function (see [32,33]), that is

$$\mathcal{F}_{\rho, \lambda}^{\sigma}(x) = F(\alpha, \beta; \gamma; x) = \sum_{k=0}^{\infty} \frac{(\alpha)_k(\beta)_k}{(\gamma)_k k!} x^k$$

also, if $\sigma(k) = (1, 1, 1, \dots)$ with $\rho = \alpha, (\operatorname{Re}(\alpha) > 0)$, $\lambda = 1$ and restricting its domain to $z \in \mathbb{C}$ in (2) then we have the classical Mittag-Leffler function (see [32,33])

$$E_{\alpha}(z) = \sum_{k=0}^{\infty} \frac{1}{\Gamma(\alpha k + 1)} z^k.$$

When it is provided that the series converges uniformly then we can differentiate term wise, also integrate, to obtain

$$\left(\frac{d}{dx}\right)^n x^{\lambda-1} \mathcal{F}_{\rho,\lambda}^{\sigma}(wx^{\rho}) = x^{\lambda-n-1} \mathcal{F}_{\rho,\lambda-n}^{\sigma}(wx^{\rho})$$

and

$$\int_0^x \dots \int_0^x t^{\lambda-1} \mathcal{F}_{\rho,\lambda}^{\sigma}(wt^{\rho})(dt)^n = x^{\lambda+n-1} \mathcal{F}_{\rho,\lambda+n}^{\sigma}(wx^{\rho}).$$

Also, the same author defined the following left-sided fractional integral operators as follows

$$\left(\mathcal{J}_{\rho,\lambda,a+;w}^{\sigma}\right)(x) = \int_a^x (x-t)^{\lambda-1} \mathcal{F}_{\rho,\lambda}^{\sigma}[w(x-t)^{\rho}] \varphi(t) dt, \quad (x > a) \quad (3)$$

where $a \in \mathbb{R}^+$; and in [34], Agarwal R.P., Luo M-J, and Raina, R.K. defined the right sided fractional integral operator as

$$\left(\mathcal{J}_{\rho,\lambda,b-;w}^{\sigma}\right)(x) = \int_x^b (t-x)^{\lambda-1} \mathcal{F}_{\rho,\lambda}^{\sigma}[w(t-x)^{\rho}] \varphi(t) dt, \quad (x < b), \quad (4)$$

where $\lambda, \rho, b > 0, w \in \mathbb{R}$ and φ is such that the integral on the right side exists.

Both $\mathcal{J}_{\rho,\lambda,a+;w}^{\sigma}\varphi$ and $\mathcal{J}_{\rho,\lambda,b-;w}^{\sigma}\varphi$ are bounded integral operators on $L_p(a, b), (1 \leq p \leq \infty)$, if

$$\mathfrak{M} := \mathcal{F}_{\rho,\lambda+1}^{\sigma}[w(b-a)^{\rho}] < \infty;$$

indeed, for $\varphi \in L_p((a, b))$ we have

$$\left\|\mathcal{J}_{\rho,\lambda,a+;w}^{\sigma}\varphi\right\|_p \leq \mathfrak{M} \|\varphi\|_p$$

and

$$\left\|\mathcal{J}_{\rho,\lambda,b-;w}^{\sigma}\varphi\right\|_p \leq \mathfrak{M} \|\varphi\|_p$$

where

$$\|\varphi\|_p = \left(\int_a^b |\varphi(x)|^p dx\right)^{1/p}.$$

Many useful fractional integral operators can be obtained by specializing the coefficient $\sigma(k)$. Here, we just point out that the classical Riemann–Liouville fractional integrals I_{a+}^{α} and I_{b-}^{α} of order α .

$$(I_{a+}^{\alpha}\varphi)(x) = \frac{1}{\Gamma(\alpha)} \int_a^x (x-t)^{\alpha-1} \varphi(t) dt, \quad (x > a, \alpha > 0)$$

and

$$(I_{b-}^{\alpha}\varphi)(x) = \frac{1}{\Gamma(\alpha)} \int_x^b (t-x)^{\alpha-1} \varphi(t) dt, \quad (x < b, \alpha > 0)$$

follow from (3) and (4) setting $\lambda = \alpha, \sigma = (1, 0, 0, \dots)$ and $w = 1$.

The main objective of this paper is to establish Hermite–Hadamard’s inequalities for Raina’s fractional integral operator using a similar method in [35] via generalized ϕ -convex functions and we will investigate some integral inequalities connected with the right-hand side of the Hermite–Hadamard type inequalities for Raina’s fractional integrals. At the end, a briefly conclusion is given.

3. Results

We define the following generalized ϕ -convex set and function, using the class of functions defined by (2).

Definition 3. A non-empty set K is said to be a generalized ϕ -convex set, if

$$p + t\mathcal{F}_{v,\mu}^{\eta}(q - p) \in K, \quad \forall p, q \in K, \quad t \in [0, 1], \quad (5)$$

where $v, \mu > 0$ and $\eta = (\eta(1), \dots, \eta(k), \dots)$ is a bounded sequence of positive real numbers.

Please note that the expression $\mathcal{F}_{v,\mu}^{\eta}(q - p)$ indicates the evaluation of $q - p$ under the action of Raina's function. If $\mu = v = 1$, $\eta(1) = 1$ and $\eta(k) = 0$ for all $k \neq 1$, then the above ϕ -convex set coincides with the classical convex set.

Definition 4. A real-valued function f defined on a ϕ -convex set K is said to be generalized ϕ -convex, if

$$f(p + t\mathcal{F}_{v,\mu}^{\eta}(q - p)) \leq (1 - t)f(p) + tf(q), \quad \forall p, q \in K, \quad t \in [0, 1]. \quad (6)$$

Again, if $\mu = v = 1$, $\eta(1) = 1$ and $\eta(k) = 0$ for all $k \neq 1$, then the generalized ϕ -convex functions coincides with the classical convex function.

Hermite–Hadamard's inequalities using generalized ϕ -convex function can be represented in Raina's fractional integral form as follows:

Theorem 2. Let $v, \mu > 0$, $\eta = \{\eta(k)\}_{k=0}^{\infty}$ a bounded sequence of real numbers and $f : [p, p + \mathcal{F}_{v,\mu}^{\eta}(q - p)] \rightarrow \mathbb{R}$ be a non-negative, with $p, q \in \mathbb{R}$ and $p < q$ and $\mathcal{F}_{v,\mu}^{\eta}(q - p) > 0$.

If f is a generalized ϕ -convex function on $[p, p + \mathcal{F}_{v,\mu}^{\eta}(q - p)]$, then the following inequalities for Raina's fractional integral operator hold

$$\begin{aligned} & \left(\frac{1}{2}\right)^{\lambda-1} \mathcal{F}_{\rho,\lambda}^{\sigma} \left[w \left(\frac{1}{2} \mathcal{F}_{v,\mu}^{\eta}(q - p) \right)^{\rho} \right] f \left(\frac{2p + \mathcal{F}_{v,\mu}^{\eta}(q - p)}{2} \right) \\ & \leq \frac{1}{2} \left(\frac{1}{\mathcal{F}_{v,\mu}^{\eta}(q - p)} \right)^{\lambda} \left[\left(\mathcal{J}_{\rho,\lambda;p+,w}^{\sigma} f \right) (p + \mathcal{F}_{v,\mu}^{\eta}(q - p)) + \left(\mathcal{J}_{\rho,\lambda;p+\mathcal{F}_{v,\mu}^{\eta}(q-p)-,w}^{\sigma} f \right) (p) \right] \\ & \leq \left[\frac{f(p) + f(q)}{2} \right] \mathcal{F}_{\rho,\lambda+1}^{\sigma} \left[w \left(\mathcal{F}_{v,\mu}^{\eta}(q - p) \right)^{\rho} \right], \end{aligned} \quad (7)$$

for $\rho, \lambda > 0$, $w \in \mathbb{R}$ and a bounded sequence of positive real numbers σ such that the function $\mathcal{F}_{\rho,\lambda}^{\sigma}$ be a non-negative function.

Proof. Taking into account that the integral of a non-negative function is greater than any value of the function at any point of the integration interval, and since f is a non-negative generalized ϕ -convex function, then, using the definition of Raina's fractional integral operator and the change of variable $u = p + (1 - t)\mathcal{F}_{v,\mu}^{\eta}(q - p)$ we have

$$\begin{aligned}
& \left(\frac{1}{\mathcal{F}_{v,\mu}^\eta(q-p)} \right)^\lambda \left(\mathcal{J}_{\rho,\lambda;p+,w}^\sigma f \right) (p + \mathcal{F}_{v,\mu}^\eta(q-p)) \\
&= \left(\frac{1}{\mathcal{F}_{v,\mu}^\eta(q-p)} \right)^\lambda \int_p^{p+\mathcal{F}_{v,\mu}^\eta(q-p)} (p + \mathcal{F}_{v,\mu}^\eta(q-p) - u)^{\lambda-1} \mathcal{F}_{\rho,\lambda}^\sigma [w (p + \mathcal{F}_{v,\mu}^\eta(q-p) - u)^\rho] f(u) du \\
&= \int_0^1 t^{\lambda-1} \mathcal{F}_{\rho,\lambda}^\sigma [w (\mathcal{F}_{v,\mu}^\eta(q-p))^\rho t^\rho] f (p + (1-t)\mathcal{F}_{v,\mu}^\eta(q-p)) dt \\
&\geq \left(\frac{1}{2} \right)^{\lambda-1} \mathcal{F}_{\rho,\lambda}^\sigma \left[w \left(\frac{1}{2} \mathcal{F}_{v,\mu}^\eta(q-p) \right)^\rho \right] f \left(\frac{2p + \mathcal{F}_{v,\mu}^\eta(q-p)}{2} \right)
\end{aligned} \tag{8}$$

Similarly, using the change of variable $u = p + t\mathcal{F}_{v,\mu}^\eta(q-p)$ we have

$$\begin{aligned}
& \left(\frac{1}{\mathcal{F}_{v,\mu}^\eta(q-p)} \right)^\lambda \left(\mathcal{J}_{\rho,\lambda;p+\mathcal{F}_{v,\mu}^\eta(q-p)-,w}^\sigma f \right) (p) \\
&= \left(\frac{1}{\mathcal{F}_{v,\mu}^\eta(q-p)} \right)^\lambda \int_p^{p+\mathcal{F}_{v,\mu}^\eta(q-p)} (u-p)^{\lambda-1} \mathcal{F}_{\rho,\lambda}^\sigma [w (u-p)^\rho] f(u) du \\
&= \int_0^1 t^{\lambda-1} \mathcal{F}_{\rho,\lambda}^\sigma [w (\mathcal{F}_{v,\mu}^\eta(q-p))^\rho t^\rho] f (p + t\mathcal{F}_{v,\mu}^\eta(q-p)) dt \\
&\geq \left(\frac{1}{2} \right)^{\lambda-1} \mathcal{F}_{\rho,\lambda}^\sigma \left[w \left(\frac{1}{2} \mathcal{F}_{v,\mu}^\eta(q-p) \right)^\rho \right] f \left(\frac{2p + \mathcal{F}_{v,\mu}^\eta(q-p)}{2} \right).
\end{aligned} \tag{9}$$

Adding inequalities (8) and (9) we obtain the left side of the inequality (7):

$$\begin{aligned}
& \left(\frac{1}{2} \right)^{\lambda-1} \mathcal{F}_{\rho,\lambda}^\sigma \left[w \left(\frac{1}{2} \mathcal{F}_{v,\mu}^\eta(q-p) \right)^\rho \right] f \left(\frac{2p + \mathcal{F}_{v,\mu}^\eta(q-p)}{2} \right) \\
&\leq \frac{1}{2} \left(\frac{1}{\mathcal{F}_{v,\mu}^\eta(q-p)} \right)^\lambda \left[\left(\mathcal{J}_{\rho,\lambda;p+,w}^\sigma f \right) (p + \mathcal{F}_{v,\mu}^\eta(q-p)) + \left(\mathcal{J}_{\rho,\lambda;p+\mathcal{F}_{v,\mu}^\eta(q-p)-,w}^\sigma f \right) (p) \right].
\end{aligned}$$

For the proof of the right-side inequality in (7) we first note that if f is generalized ϕ -convex function, then

$$f(p + (1-t)\mathcal{F}_{v,\mu}^\eta(q-p)) \leq tf(p) + (1-t)f(q)$$

and

$$f(p + t\mathcal{F}_{v,\mu}^\eta(q-p)) \leq (1-t)f(p) + tf(q).$$

By adding these inequalities, we have

$$f(p + (1-t)\mathcal{F}_{v,\mu}^\eta(q-p)) + f(p + t\mathcal{F}_{v,\mu}^\eta(q-p)) \leq f(p) + f(q). \tag{10}$$

Then multiplying both sides of (10) by $t^{\lambda-1} \mathcal{F}_{\rho,\lambda}^\sigma [w (\mathcal{F}_{v,\mu}^\eta(q-p))^\rho t^\rho]$ and integrating the resulting inequality with respect to t over $[0, 1]$, we obtain

$$\begin{aligned}
& \int_0^1 t^{\lambda-1} \mathcal{F}_{\rho,\lambda}^\sigma [w (\mathcal{F}_{v,\mu}^\eta(q-p))^\rho t^\rho] f(p + (1-t)\mathcal{F}_{v,\mu}^\eta(q-p)) dt \\
&+ \int_0^1 t^{\lambda-1} \mathcal{F}_{\rho,\lambda}^\sigma [w (\mathcal{F}_{v,\mu}^\eta(q-p))^\rho t^\rho] f(p + t\mathcal{F}_{v,\mu}^\eta(q-p)) dt \\
&\leq [f(p) + f(q)] \int_0^1 t^{\lambda-1} \mathcal{F}_{\rho,\lambda}^\sigma [w (\mathcal{F}_{v,\mu}^\eta(q-p))^\rho t^\rho] dt,
\end{aligned}$$

i.e.,

$$\begin{aligned} \frac{1}{2} \left(\frac{1}{\mathcal{F}_{v,\mu}^\eta(q-p)} \right)^\lambda & \left[\left(\mathcal{J}_{\rho,\lambda;p+,w}^\sigma f \right) (p + \mathcal{F}_{v,\mu}^\eta(q-p)) + \left(\mathcal{J}_{\rho,\lambda;p+\mathcal{F}_{v,\mu}^\eta(q-p)-,w}^\sigma f \right) (p) \right] \\ & \leq \frac{[f(p) + f(q)]}{2} \mathcal{F}_{\rho,\lambda+1}^\sigma \left[w \left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^\rho \right]. \end{aligned}$$

The proof of this theorem is complete. \square

Remark 1. Letting $\lambda = \alpha$, $w = 1$ and $\sigma(0) = 1$ and $\sigma(k) = 0, k > 0$, then we have the Hermite–Hadamard inequality for generalized ϕ -convex functions using the Riemann–Liouville fractional integral

$$\begin{aligned} & \frac{1}{2^{\alpha-1}\Gamma(\alpha)} f \left(\frac{2p + \mathcal{F}_{v,\mu}^\eta(q-p)}{2} \right) \\ & \leq \frac{1}{2} \left(\frac{1}{\mathcal{F}_{v,\mu}^\eta(q-p)} \right)^\alpha \left[\left(\mathcal{I}_{p+}^\alpha f \right) (p + \mathcal{F}_{v,\mu}^\eta(q-p)) + \left(\mathcal{I}_{p+\mathcal{F}_{v,\mu}^\eta(q-p)-}^\alpha f \right) (p) \right] \\ & \leq \frac{[f(p) + f(q)]}{2\Gamma(\alpha+1)}, \end{aligned}$$

and if $\alpha = 1$ then we have the inequality for the classical Riemann integral

$$f \left(\frac{2p + \mathcal{F}_{v,\mu}^\eta(q-p)}{2} \right) \leq \frac{1}{\mathcal{F}_{v,\mu}^\eta(q-p)} \int_p^{p+\mathcal{F}_{v,\mu}^\eta(q-p)} f(u) du \leq \frac{1}{2} [f(p) + f(q)].$$

In addition, if $v = \mu = 1$, $\eta(1) = 1$ and $\eta(k) = 0$ for $k \neq 0$ we have the classical Hermite–Hadamard inequality (1)

4. Raina's Fractional Integral Inequalities for Generalized ϕ -Convex Functions

For establishing some new results regarding the right side of Hermite–Hadamard type inequalities for Raina's fractional integrals via generalized ϕ -convex functions we need to prove the following lemma.

Lemma 1. Let $v, \mu > 0$, $\eta = \{\eta(k)\}_{k=0}^\infty$ a bounded sequence of real numbers, and $p, q \in \mathbb{R}$ with $p < q$, and $f : [p, p + \mathcal{F}_{v,\mu}^\eta(q-p)] \rightarrow \mathbb{R}$ be a differentiable on $(p, p + \mathcal{F}_{v,\mu}^\eta(q-p))$, where $\mathcal{F}_{v,\mu}^\eta(q-p) > 0$. Then the following equality holds

$$\begin{aligned} & \frac{\mathcal{F}_{\rho,\lambda+1}^\sigma \left[w \left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^\rho \right]}{\mathcal{F}_{v,\mu}^\eta(q-p)} \left(f \left(p + \mathcal{F}_{v,\mu}^\eta(q-p) \right) + f(p) \right) \\ & - \frac{1}{\left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^{\lambda+1}} \left(\left(\mathcal{J}_{\rho,\lambda,(p+\mathcal{F}_{v,\mu}^\eta(q-p))-;w}^\sigma f \right) (p) + \left(\mathcal{J}_{\rho,\lambda,p+;w}^\sigma f \right) (p + \mathcal{F}_{v,\mu}^\eta(q-p)) \right) \\ & = \int_0^1 (1-t)^\lambda \mathcal{F}_{\rho,\lambda+1}^\sigma \left[w \left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^\rho (1-t)^\rho \right] f' \left(p + (1-t) \mathcal{F}_{v,\mu}^\eta(q-p) \right) dt \\ & \quad - \int_0^1 t^\lambda \mathcal{F}_{\rho,\lambda+1}^\sigma \left[w \left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^\rho t^\rho \right] f' \left(p + (1-t) \mathcal{F}_{v,\mu}^\eta(q-p) \right) dt, \end{aligned}$$

for $\rho, \lambda > 0$, $w \in \mathbb{R}$ and a bounded sequence of positive real numbers σ .

Proof. Integrating by parts, we get

$$\begin{aligned} I_1 &= \int_0^1 (1-t)^\lambda \mathcal{F}_{\rho,\lambda+1}^\sigma \left[w \left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^\rho (1-t)^\rho \right] f' \left(p + (1-t) \mathcal{F}_{v,\mu}^\eta(q-p) \right) dt \\ &= \frac{\mathcal{F}_{\rho,\lambda+1}^\sigma \left[w \left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^\rho \right]}{\mathcal{F}_{v,\mu}^\eta(q-p)} f \left(p + \mathcal{F}_{v,\mu}^\eta(q-p) \right) \\ &\quad - \frac{1}{\mathcal{F}_{v,\mu}^\eta(q-p)} \int_0^1 (1-t)^{\lambda-1} \mathcal{F}_{\rho,\lambda}^\sigma \left[w \left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^\rho (1-t)^\rho \right] f \left(p + (1-t) \mathcal{F}_{v,\mu}^\eta(q-p) \right) dt \end{aligned}$$

and with the change of variable $x = p + (1-t) \mathcal{F}_{v,\mu}^\eta(q-p)$ it is obtained

$$\begin{aligned} I_1 &= \frac{\mathcal{F}_{\rho,\lambda+1}^\sigma \left[w \left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^\rho \right]}{\mathcal{F}_{v,\mu}^\eta(q-p)} f \left(p + \mathcal{F}_{v,\mu}^\eta(q-p) \right) \\ &\quad - \frac{1}{\left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^{\lambda+1}} \int_p^{p+\mathcal{F}_{v,\mu}^\eta(q-p)} (x-p)^{\lambda-1} \mathcal{F}_{\rho,\lambda}^\sigma \left[w (x-p)^\rho \right] f(x) dx \\ &= \frac{\mathcal{F}_{\rho,\lambda+1}^\sigma \left[w \left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^\rho \right]}{\mathcal{F}_{v,\mu}^\eta(q-p)} f \left(p + \mathcal{F}_{v,\mu}^\eta(q-p) \right) \\ &\quad - \frac{1}{\left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^{\lambda+1}} \left(\mathcal{J}_{\rho,\lambda,(p+\mathcal{F}_{v,\mu}^\eta(q-p))-,w}^\sigma f \right) (p). \end{aligned}$$

Similarly,

$$\begin{aligned} I_2 &= \int_0^1 t^\lambda \mathcal{F}_{\rho,\lambda+1}^\sigma \left[w \left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^\rho t^\rho \right] f' \left(p + (1-t) \mathcal{F}_{v,\mu}^\eta(q-p) \right) dt \\ &= - \frac{\mathcal{F}_{\rho,\lambda+1}^\sigma \left[w \left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^\rho \right]}{\mathcal{F}_{v,\mu}^\eta(q-p)} f(p) \\ &\quad + \frac{1}{\left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^{\lambda+1}} \left(\mathcal{J}_{\rho,\lambda,p+;w}^\sigma f \right) (p + \mathcal{F}_{v,\mu}^\eta(q-p)). \end{aligned}$$

Therefore,

$$\begin{aligned} I_1 - I_2 &= \frac{\mathcal{F}_{\rho,\lambda+1}^\sigma \left[w \left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^\rho \right]}{\mathcal{F}_{v,\mu}^\eta(q-p)} f \left(p + \mathcal{F}_{v,\mu}^\eta(q-p) \right) \\ &\quad - \frac{1}{\left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^{\lambda+1}} \left(\mathcal{J}_{\rho,\lambda,(p+\mathcal{F}_{v,\mu}^\eta(q-p))-,w}^\sigma f \right) (p) \\ &\quad + \frac{\mathcal{F}_{\rho,\lambda+1}^\sigma \left[w \left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^\rho \right]}{\mathcal{F}_{v,\mu}^\eta(q-p)} f(p) \\ &\quad - \frac{1}{\left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^{\lambda+1}} \left(\mathcal{J}_{\rho,\lambda,p+;w}^\sigma f \right) (p + \mathcal{F}_{v,\mu}^\eta(q-p)) \\ &= \frac{\mathcal{F}_{\rho,\lambda+1}^\sigma \left[w \left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^\rho \right]}{\mathcal{F}_{v,\mu}^\eta(q-p)} \left(f \left(p + \mathcal{F}_{v,\mu}^\eta(q-p) \right) + f(p) \right) \\ &\quad - \frac{1}{\left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^{\lambda+1}} \left(\left(\mathcal{J}_{\rho,\lambda,(p+\mathcal{F}_{v,\mu}^\eta(q-p))-,w}^\sigma f \right) (p) + \left(\mathcal{J}_{\rho,\lambda,p+;w}^\sigma f \right) (p + \mathcal{F}_{v,\mu}^\eta(q-p)) \right). \end{aligned}$$

The proof is complete. \square

Using Lemma 1, it can be obtained some interesting inequalities.

Theorem 3. Let $\nu, \mu > 0$, $\eta = \{\eta(k)\}_{k=0}^{\infty}$ a bounded sequence of real numbers, and $p, q \in \mathbb{R}$ with $p < q$, and $f : [p, p + \mathcal{F}_{\nu, \mu}^{\eta}(q - p)] \rightarrow \mathbb{R}$ be a differentiable on $(p, p + \mathcal{F}_{\nu, \mu}^{\eta}(q - p))$, where $\mathcal{F}_{\nu, \mu}^{\eta}(q - p) > 0$. If $|f'|^r$ is generalized ϕ -convex function on $[p, p + \mathcal{F}_{\nu, \mu}^{\eta}(q - p)]$ for $r \geq 1$, then the following inequality for Raina's fractional integral operator holds

$$\begin{aligned} & \left| \frac{\mathcal{F}_{\rho, \lambda+1}^{\sigma} \left[w \left(\mathcal{F}_{\nu, \mu}^{\eta}(q - p) \right)^{\rho} \right]}{\mathcal{F}_{\nu, \mu}^{\eta}(q - p)} \left(f \left(p + \mathcal{F}_{\nu, \mu}^{\eta}(q - p) \right) + f(p) \right) \right. \\ & \quad \left. - \frac{1}{\left(\mathcal{F}_{\nu, \mu}^{\eta}(q - p) \right)^{\lambda+1}} \left(\left(\mathcal{J}_{\rho, \lambda, (p + \mathcal{F}_{\nu, \mu}^{\eta}(q - p))-, w}^{\sigma} f \right) (p) + \left(\mathcal{J}_{\rho, \lambda, p+, w}^{\sigma} f \right) (p + \mathcal{F}_{\nu, \mu}^{\eta}(q - p)) \right) \right| \\ & \leq \begin{cases} (|f'(p)| + |f'(q)|) \left(\mathcal{F}_{\rho, \lambda+3}^{\sigma} + \mathcal{F}_{\rho, \lambda+1}^{\sigma_1} \right) \left[w \left(\mathcal{F}_{\nu, \mu}^{\eta}(q - p) \right)^{\rho} \right], & r = 1 \\ 2^{1/s} (|f'(q)|^r + |f'(p)|^r)^{1/r} \mathcal{F}_{\rho, \lambda}^{\sigma_2^s} [w \left(\mathcal{F}_{\nu, \mu}^{\eta}(q - p) \right)^{\rho}], & r > 1, \frac{1}{r} + \frac{1}{s} = 1, \end{cases} \end{aligned}$$

where

$$\sigma_1(k) = \frac{\sigma(k)}{k\rho + \lambda + 2} \text{ and } \sigma_2^s(k) = \frac{\sigma(k)}{(s(k\rho + \lambda) + 1)^{1/s}} \text{ for } k = 1, 2, \dots,$$

for $\rho, \lambda > 0$, $w \in \mathbb{R}$ and a bounded sequence of positive real numbers σ .

Proof. Let $r = 1$. Using Lemma 1, the triangular inequality and the generalized ϕ -convexity of $|f'|$, we have

$$\begin{aligned} & \left| \frac{\mathcal{F}_{\rho, \lambda+1}^{\sigma} \left[w \left(\mathcal{F}_{\nu, \mu}^{\eta}(q - p) \right)^{\rho} \right]}{\mathcal{F}_{\nu, \mu}^{\eta}(q - p)} \left(f \left(p + \mathcal{F}_{\nu, \mu}^{\eta}(q - p) \right) + f(p) \right) \right. \\ & \quad \left. - \frac{1}{\left(\mathcal{F}_{\nu, \mu}^{\eta}(q - p) \right)^{\lambda+1}} \left(\left(\mathcal{J}_{\rho, \lambda, (p + \mathcal{F}_{\nu, \mu}^{\eta}(q - p))-, w}^{\sigma} f \right) (p) + \left(\mathcal{J}_{\rho, \lambda, p+, w}^{\sigma} f \right) (p + \mathcal{F}_{\nu, \mu}^{\eta}(q - p)) \right) \right| \\ & \leq \int_0^1 (1-t)^{\lambda} \mathcal{F}_{\rho, \lambda+1}^{\sigma} \left[w \left(\mathcal{F}_{\nu, \mu}^{\eta}(q - p) \right)^{\rho} (1-t)^{\rho} \right] |f' \left(p + (1-t) \mathcal{F}_{\nu, \mu}^{\eta}(q - p) \right)| dt \\ & \quad + \int_0^1 t^{\lambda} \mathcal{F}_{\rho, \lambda+1}^{\sigma} \left[w \left(\mathcal{F}_{\nu, \mu}^{\eta}(q - p) \right)^{\rho} t^{\rho} \right] |f' \left(p + (1-t) \mathcal{F}_{\nu, \mu}^{\eta}(q - p) \right)| dt \\ & \leq \int_0^1 (1-t)^{\lambda} \mathcal{F}_{\rho, \lambda+1}^{\sigma} \left[w \left(\mathcal{F}_{\nu, \mu}^{\eta}(q - p) \right)^{\rho} (1-t)^{\rho} \right] (t|f'(p)| + (1-t)|f'(q)|) dt \\ & \quad + \int_0^1 t^{\lambda} \mathcal{F}_{\rho, \lambda+1}^{\sigma} \left[w \left(\mathcal{F}_{\nu, \mu}^{\eta}(q - p) \right)^{\rho} t^{\rho} \right] (t|f'(p)| + (1-t)|f'(q)|) dt. \end{aligned} \quad (11)$$

Now, it can be seen that

$$\begin{aligned} & \int_0^1 (1-t)^{\lambda+1} \mathcal{F}_{\rho,\lambda+1}^\sigma \left[w \left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^\rho (1-t)^\rho \right] dt \\ &= \int_0^1 t^{\lambda+1} \mathcal{F}_{\rho,\lambda+1}^\sigma \left[w \left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^\rho t^\rho \right] dt \\ &= \mathcal{F}_{\rho,\lambda+1}^{\sigma_1} \left[w \left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^\rho \right], \end{aligned} \quad (12)$$

where

$$\sigma_1(k) = \frac{\sigma(k)}{k\rho + \lambda + 2} \text{ for } k = 0, 1, 2, \dots,$$

and

$$\begin{aligned} & \int_0^1 (1-t)^\lambda t \mathcal{F}_{\rho,\lambda+1}^\sigma \left[w \left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^\rho (1-t)^\rho \right] dt \\ &= \int_0^1 t^\lambda (1-t) \mathcal{F}_{\rho,\lambda+1}^\sigma \left[w \left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^\rho t^\rho \right] dt \\ &= \mathcal{F}_{\rho,\lambda+3}^\sigma \left[w \left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^\rho \right]. \end{aligned} \quad (13)$$

By replacement of (12) and (13) in (11) we have

$$\begin{aligned} & \left| \frac{\mathcal{F}_{\rho,\lambda+1}^\sigma \left[w \left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^\rho \right]}{\mathcal{F}_{v,\mu}^\eta(q-p)} \left(f \left(p + \mathcal{F}_{v,\mu}^\eta(q-p) \right) + f(p) \right) \right. \\ & \quad \left. - \frac{1}{\left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^{\lambda+1}} \left(\left(\mathcal{J}_{\rho,\lambda,(p+\mathcal{F}_{v,\mu}^\eta(q-p))-\omega}^\sigma f \right) (p) + \left(\mathcal{J}_{\rho,\lambda,p+\omega}^\sigma f \right) (p + \mathcal{F}_{v,\mu}^\eta(q-p)) \right) \right| \\ & \leq |f'(p)| \left(\mathcal{F}_{\rho,\lambda+3}^\sigma \left[w \left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^\rho \right] + \mathcal{F}_{\rho,\lambda+1}^{\sigma_1} \left[w \left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^\rho \right] \right) \\ & \quad + |f'(q)| \left(\mathcal{F}_{\rho,\lambda+1}^{\sigma_1} \left[w \left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^\rho \right] + \mathcal{F}_{\rho,\lambda+3}^\sigma \left[w \left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^\rho \right] \right) \\ & = (|f'(p)| + |f'(q)|) \left(\mathcal{F}_{\rho,\lambda+3}^\sigma + \mathcal{F}_{\rho,\lambda+1}^{\sigma_1} \right) \left[w \left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^\rho \right]. \end{aligned}$$

For the case of $r > 1$ it will be used Lemma 1, the triangular inequality, Hölder's inequality and the generalized ϕ -convexity of $|f'|^r$. Then, we can observe that

$$\begin{aligned} & \left| \frac{\mathcal{F}_{\rho,\lambda+1}^\sigma \left[w \left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^\rho \right]}{\mathcal{F}_{v,\mu}^\eta(q-p)} \left(f \left(p + \mathcal{F}_{v,\mu}^\eta(q-p) \right) + f(p) \right) \right. \\ & \quad \left. - \frac{1}{\left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^{\lambda+1}} \left(\left(\mathcal{J}_{\rho,\lambda,(p+\mathcal{F}_{v,\mu}^\eta(q-p))-\omega}^\sigma f \right) (p) + \left(\mathcal{J}_{\rho,\lambda,p+\omega}^\sigma f \right) (p + \mathcal{F}_{v,\mu}^\eta(q-p)) \right) \right| \\ & \leq \int_0^1 (1-t)^\lambda \mathcal{F}_{\rho,\lambda+1}^\sigma \left[w \left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^\rho (1-t)^\rho \right] |f' \left(p + (1-t) \mathcal{F}_{v,\mu}^\eta(q-p) \right)| dt \\ & \quad + \int_0^1 t^\lambda \mathcal{F}_{\rho,\lambda+1}^\sigma \left[w \left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^\rho t^\rho \right] |f' \left(p + (1-t) \mathcal{F}_{v,\mu}^\eta(q-p) \right)| dt \\ & = \sum_{k=0}^{\infty} \frac{\sigma(k)}{\Gamma(k\rho + \lambda + 1)} w^k \left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^{k\rho} \int_0^1 (1-t)^{k\rho+\lambda} |f' \left(p + (1-t) \mathcal{F}_{v,\mu}^\eta(q-p) \right)| dt \\ & \quad + \sum_{k=0}^{\infty} \frac{\sigma(k)}{\Gamma(k\rho + \lambda + 1)} w^k \left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^{k\rho} \int_0^1 t^{k\rho+\lambda} |f' \left(p + (1-t) \mathcal{F}_{v,\mu}^\eta(q-p) \right)| dt \end{aligned}$$

$$\begin{aligned}
&= \sum_{k=0}^{\infty} \frac{\sigma(k)}{\Gamma(k\rho + \lambda + 1)} w^k \left(\mathcal{F}_{v,\mu}^{\eta}(q-p) \right)^{k\rho} \times \\
&\quad \left(\int_0^1 (1-t)^{k\rho+\lambda} |f'(p + (1-t)\mathcal{F}_{v,\mu}^{\eta}(q-p))| dt + \int_0^1 t^{k\rho+\lambda} |f'(p + (1-t)\mathcal{F}_{v,\mu}^{\eta}(q-p))| dt \right) \\
&\leq \sum_{k=0}^{\infty} \frac{\sigma(k)}{\Gamma(k\rho + \lambda + 1)} w^k \left(\mathcal{F}_{v,\mu}^{\eta}(q-p) \right)^{k\rho} \times \\
&\quad \left[\left(\int_0^1 (1-t)^{s(k\rho+\lambda)} dt \right)^{1/s} \left(\int_0^1 |f'(p + (1-t)\mathcal{F}_{v,\mu}^{\eta}(q-p))|^r dt \right)^{1/r} \right. \\
&\quad \left. + \left(\int_0^1 t^{s(k\rho+\lambda)} dt \right)^{1/s} \left(\int_0^1 |f'(p + (1-t)\mathcal{F}_{v,\mu}^{\eta}(q-p))|^r dt \right)^{1/r} \right] \\
&= \sum_{k=0}^{\infty} \frac{\sigma(k)}{\Gamma(k\rho + \lambda + 1)} w^k \left(\mathcal{F}_{v,\mu}^{\eta}(q-p) \right)^{k\rho} \left(\int_0^1 |f'(p + (1-t)\mathcal{F}_{v,\mu}^{\eta}(q-p))|^r dt \right)^{1/r} \times \\
&\quad \left(\left(\int_0^1 (1-t)^{s(k\rho+\lambda)} dt \right)^{1/s} + \left(\int_0^1 t^{s(k\rho+\lambda)} dt \right)^{1/s} \right) \\
&\leq \sum_{k=0}^{\infty} \frac{\sigma(k)}{\Gamma(k\rho + \lambda + 1)} w^k \left(\mathcal{F}_{v,\mu}^{\eta}(q-p) \right)^{k\rho} \left[(|f'(p)|^r + |f'(q)|^r)^{1/r} \left(\frac{2}{s(k\rho + \lambda) + 1} \right)^{1/s} \right] \\
&= 2^{1/s} (|f'(p)|^r + |f'(q)|^r)^{1/r} \mathcal{F}_{\rho,\lambda}^{\sigma_s^s} [w \left(\mathcal{F}_{v,\mu}^{\eta}(q-p) \right)^{\rho}],
\end{aligned}$$

where

$$\frac{1}{r} + \frac{1}{s} = 1 \text{ and } \sigma_2^s(k) = \frac{\sigma(k)}{(s(k\rho + \lambda) + 1)^{1/s}} \text{ for } k = 1, 2, 3, \dots$$

In the above expression it was used

$$\left(\int_0^1 (1-t)^{s(k\rho+\lambda)} dt \right)^{1/s} = \left(\int_0^1 t^{s(k\rho+\lambda)} dt \right)^{1/s} = \frac{1}{(s(k\rho + \lambda) + 1)^{1/s}}.$$

The proof is complete. \square

Corollary 1. With the notations in Theorem 3, if $|f'| \leq K$, we have

$$\begin{aligned}
&\left| \frac{\mathcal{F}_{\rho,\lambda+1}^{\sigma} [w \left(\mathcal{F}_{v,\mu}^{\eta}(q-p) \right)^{\rho}]}{\mathcal{F}_{v,\mu}^{\eta}(q-p)} \left(f(p + \mathcal{F}_{v,\mu}^{\eta}(q-p)) + f(p) \right) \right. \\
&\quad \left. - \frac{1}{\left(\mathcal{F}_{v,\mu}^{\eta}(q-p) \right)^{\lambda+1}} \left(\left(\mathcal{J}_{\rho,\lambda,(p+\mathcal{F}_{v,\mu}^{\eta}(q-p))-,wf}^{\sigma} \right) (p) + \left(\mathcal{J}_{\rho,\lambda,p+;wf}^{\sigma} \right) (p + \mathcal{F}_{v,\mu}^{\eta}(q-p)) \right) \right| \\
&\leq \begin{cases} 2K \left(\mathcal{F}_{\rho,\lambda+3}^{\sigma} + \mathcal{F}_{\rho,\lambda+2}^{\sigma_1} \right) [w \left(\mathcal{F}_{v,\mu}^{\eta}(q-p) \right)^{\rho}], & r = 1 \\ 2K \mathcal{F}_{\rho,\lambda}^{\sigma_s^s} [w \left(\mathcal{F}_{v,\mu}^{\eta}(q-p) \right)^{\rho}], & r > 1, \frac{1}{r} + \frac{1}{s} = 1, \end{cases}
\end{aligned}$$

where

$$\sigma_1(k) = \frac{\sigma(k)}{k\rho + \lambda + 2} \text{ and } \sigma_2^s(k) = \frac{\sigma(k)}{(s(k\rho + \lambda) + 1)^{1/s}} \text{ for } k = 1, 2, 3, \dots$$

Remark 2. If in Theorem 3 we choose $\lambda = \alpha$, $\sigma = \{1, 0, 0, \dots\}$ and $w = 1$ it is obtained the following inequality for the Riemann–Liouville fractional integral

$$\left| \frac{1}{\alpha} \left(f(p + \mathcal{F}_{v,\mu}^\eta(q-p)) + f(p) \right) - \left(\left(\mathcal{I}_{(p+\mathcal{F}_{v,\mu}^\eta(q-p))^-}^\alpha f \right)(p) + \left(\mathcal{I}_{p+}^\alpha f \right)(p + \mathcal{F}_{v,\mu}^\eta(q-p)) \right) \right|$$

$$\leq \begin{cases} (|f'(p)| + |f'(q)|) \left(\frac{\alpha+3}{\Gamma(\alpha+3)} \right), & r = 1 \\ (|f'(q)|^r + |f'(p)|^r)^{1/r} \frac{1}{(s\alpha+1)\Gamma(\alpha)}, & r > 1, \frac{1}{r} + \frac{1}{s} = 1, \end{cases}$$

If $\alpha = 1$ then it is attained the following inequality for the classical Riemann integral

$$\left| (f(p + \mathcal{F}_{v,\mu}^\eta(q-p)) + f(p)) - \int_p^{p+\mathcal{F}_{v,\mu}^\eta(q-p)} f(x) dx \right|$$

$$\leq \begin{cases} \frac{2}{3} (|f'(p)| + |f'(q)|), & r = 1 \\ (|f'(q)|^r + |f'(p)|^r)^{1/r} \frac{1}{(s+1)}, & r > 1, \frac{1}{r} + \frac{1}{s} = 1. \end{cases}$$

Theorem 4. Let $v, \mu > 0$, $\eta = \{\eta(k)\}_{k=0}^\infty$ a bounded sequence of real numbers, and $p, q \in \mathbb{R}$ with $p < q$, and $f : [p, p + \mathcal{F}_{v,\mu}^\eta(q-p)] \rightarrow \mathbb{R}$ be a differentiable on $(p, p + \mathcal{F}_{v,\mu}^\eta(q-p))$, where $\mathcal{F}_{v,\mu}^\eta(q-p) > 0$. If $|f'|^r$ is generalized ϕ -convex function on $[p, p + \mathcal{F}_{v,\mu}^\eta(q-p)]$ for $r \geq 1$. If $|f'|^r$ is generalized ϕ -convex function on $[p, p + \mathcal{F}_{v,\mu}^\eta(q-p)]$ for $r \geq 1$, then the following inequality for Raina's fractional integral operator holds

$$\left| \frac{\mathcal{F}_{\rho,\lambda+1}^\sigma \left[w \left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^\rho \right]}{\mathcal{F}_{v,\mu}^\eta(q-p)} \left(f(p + \mathcal{F}_{v,\mu}^\eta(q-p)) + f(p) \right) \right.$$

$$\left. - \frac{1}{\left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^{\lambda+1}} \left(\left(\mathcal{J}_{\rho,\lambda,(p+\mathcal{F}_{v,\mu}^\eta(q-p))^-;w}^\sigma f \right)(p) + \left(\mathcal{J}_{\rho,\lambda,p+;w}^\sigma f \right)(p + \mathcal{F}_{v,\mu}^\eta(q-p)) \right) \right|$$

$$\leq \mathcal{F}_{\rho,\lambda+2}^\sigma \left[w \left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^\rho \right] \left[(A(\rho, \lambda, \sigma_1) |f'(p)|^r + B(\rho, \lambda, \sigma) |f'(q)|^r)^{1/r} \right.$$

$$\left. + (B(\rho, \lambda, \sigma) |f'(p)|^r + A(\rho, \lambda, \sigma_1) |f'(q)|^r)^{1/r} \right],$$

where

$$A(\rho, \lambda, \sigma_1) = \mathcal{F}_{\rho,\lambda+1}^{\sigma_1} \left[w \left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^\rho \right], \quad B(\rho, \lambda, \sigma) = \mathcal{F}_{\rho,\lambda+3}^\sigma \left[w \left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^\rho \right],$$

and

$$\sigma_1(k) = \frac{\sigma(k)}{k\rho + \lambda + 2} \text{ for } k = 1, 2, \dots.$$

for $\rho, \lambda > 0$, $w \in \mathbb{R}$ and a bounded sequence of positive real numbers σ .

Proof. Let $r \geq 1$. Using Lemma 1, the triangular inequality, the power mean inequality and the generalized ϕ -convexity of $|f'|$, we have

$$\begin{aligned} & \left| \frac{\mathcal{F}_{\rho,\lambda+1}^\sigma \left[w \left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^\rho \right]}{\mathcal{F}_{v,\mu}^\eta(q-p)} \left(f \left(p + \mathcal{F}_{v,\mu}^\eta(q-p) \right) + f(p) \right) \right. \\ & \quad \left. - \frac{1}{\left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^{\lambda+1}} \left(\left(\mathcal{J}_{\rho,\lambda,(p+\mathcal{F}_{v,\mu}^\eta(q-p))-,w}^\sigma f \right) (p) + \left(\mathcal{J}_{\rho,\lambda,p+;w}^\sigma f \right) (p + \mathcal{F}_{v,\mu}^\eta(q-p)) \right) \right| \\ & \leq \left(\int_0^1 (1-t)^\lambda \mathcal{F}_{\rho,\lambda+1}^\sigma \left[w \left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^\rho (1-t)^\rho \right] dt \right)^{1-1/r} \times \\ & \quad \left(\int_0^1 (1-t)^\lambda \mathcal{F}_{\rho,\lambda+1}^\sigma \left[w \left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^\rho (1-t)^\rho \right] |f'| \left(p + (1-t) \mathcal{F}_{v,\mu}^\eta(q-p) \right)^r dt \right)^{1/r} \\ & + \left(\int_0^1 t^\lambda \mathcal{F}_{\rho,\lambda+1}^\sigma \left[w \left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^\rho t^\rho \right] dt \right)^{1-1/r} \times \\ & \quad \left(\int_0^1 t^\lambda \mathcal{F}_{\rho,\lambda+1}^\sigma \left[w \left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^\rho t^\rho \right] |f'| \left(p + (1-t) \mathcal{F}_{v,\mu}^\eta(q-p) \right)^r dt \right)^{1/r}. \end{aligned}$$

Using (12) and (13) (in Theorem 3) it can be written

$$\begin{aligned} & \left| \frac{\mathcal{F}_{\rho,\lambda+1}^\sigma \left[w \left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^\rho \right]}{\mathcal{F}_{v,\mu}^\eta(q-p)} \left(f \left(p + \mathcal{F}_{v,\mu}^\eta(q-p) \right) + f(p) \right) \right. \\ & \quad \left. - \frac{1}{\left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^{\lambda+1}} \left(\left(\mathcal{J}_{\rho,\lambda,(p+\mathcal{F}_{v,\mu}^\eta(q-p))-,w}^\sigma f \right) (p) + \left(\mathcal{J}_{\rho,\lambda,p+;w}^\sigma f \right) (p + \mathcal{F}_{v,\mu}^\eta(q-p)) \right) \right| \\ & \leq \left(\mathcal{F}_{\rho,\lambda+2}^\sigma \left[w \left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^\rho \right] \right)^{1-1/r} \times \\ & \quad \left[\left(|f'(p)|^r \mathcal{F}_{\rho,\lambda+1}^{\sigma_1} \left[w \left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^\rho \right] + |f'(q)|^r \mathcal{F}_{\rho,\lambda+3}^\sigma \left[w \left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^\rho \right] \right)^{1/r} \right. \\ & \quad \left. + \left(|f'(p)|^r \mathcal{F}_{\rho,\lambda+3}^\sigma \left[w \left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^\rho \right] + |f'(q)|^r \mathcal{F}_{\rho,\lambda+1}^{\sigma_1} \left[w \left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^\rho \right] \right)^{1/r} \right] \end{aligned}$$

and setting

$$A(\rho, \lambda, \sigma_1) = \mathcal{F}_{\rho,\lambda+1}^{\sigma_1} \left[w \left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^\rho \right] \text{ and } B(\rho, \lambda, \sigma) = \mathcal{F}_{\rho,\lambda+3}^\sigma \left[w \left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^\rho \right]$$

the desired result is attained. \square

Corollary 2. With the notations in Theorem 4, if $|f'| \leq K$, we have

$$\begin{aligned} & \left| \frac{\mathcal{F}_{\rho,\lambda+1}^\sigma \left[w \left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^\rho \right]}{\mathcal{F}_{v,\mu}^\eta(q-p)} \left(f \left(p + \mathcal{F}_{v,\mu}^\eta(q-p) \right) + f(p) \right) \right. \\ & \quad \left. - \frac{1}{\left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^{\lambda+1}} \left(\left(\mathcal{J}_{\rho,\lambda,(p+\mathcal{F}_{v,\mu}^\eta(q-p))-,w}^\sigma f \right) (p) + \left(\mathcal{J}_{\rho,\lambda,p+;w}^\sigma f \right) (p + \mathcal{F}_{v,\mu}^\eta(q-p)) \right) \right| \\ & \leq 2K \mathcal{F}_{\rho,\lambda+2}^\sigma \left[w \left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^\rho \right] (A(\rho, \lambda, \sigma_1) + B(\rho, \lambda, \sigma))^{1/r}, \end{aligned}$$

where

$$A(\rho, \lambda, \sigma_1) = \mathcal{F}_{\rho,\lambda+1}^{\sigma_1} \left[w \left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^\rho \right], \quad B(\rho, \lambda, \sigma) = \mathcal{F}_{\rho,\lambda+3}^\sigma \left[w \left(\mathcal{F}_{v,\mu}^\eta(q-p) \right)^\rho \right],$$

and

$$\sigma_1(k) = \frac{\sigma(k)}{kp + \lambda + 2} \text{ for } k = 1, 2, \dots.$$

Theorem 5. Let $v, \mu > 0$, $\eta = \{\eta(k)\}_{k=0}^{\infty}$ a bounded sequence of real numbers, and $p, q \in \mathbb{R}$ with $p < q$, and f, g be real-valued, non-negative and generalized ϕ -convex functions on $(p, p + \mathcal{F}_{v,\mu}^{\eta}(q - p))$, where $\mathcal{F}_{v,\mu}^{\eta}(q - p) > 0$. Then

$$\begin{aligned} & (\mathcal{J}_{\rho,\lambda,p+,w}^{\sigma} fg)(p + \mathcal{F}_{v,\mu}^{\eta}(q - p)) + (\mathcal{J}_{\rho,\lambda,p+\mathcal{F}_{v,\mu}^{\eta}(q-p),w}^{\sigma} fg)(p) \\ & \leq M(p, q) \left(\mathcal{F}_{\rho,\lambda+1}^{\sigma} \left[w \left(\mathcal{F}_{v,\mu}^{\eta}(q - p) \right)^{\rho} \right] + \mathcal{F}_{\rho,\lambda}^{\sigma_1} \left[w \left(\mathcal{F}_{v,\mu}^{\eta}(q - p) \right)^{\rho} \right] \right) \\ & \quad + N(p, q) \mathcal{F}_{\rho,\lambda}^{\sigma_2} \left[w \left(\mathcal{F}_{v,\mu}^{\eta}(q - p) \right)^{\rho} \right] \end{aligned} \quad (14)$$

where

$$\begin{aligned} \sigma_1(k) &= \sigma(k) \left(\frac{2}{kp + \lambda + 2} + \frac{2}{kp + \lambda + 1} \right), \\ \sigma_2(k) &= \sigma(k)(\lambda + 4). \end{aligned}$$

and

$$M(p, q) = f(p)g(p) + f(q)g(q), \quad N(p, q) = f(p)g(q) + f(q)g(p),$$

for $\rho, \lambda > 0$, $w \in \mathbb{R}$ and a bounded sequence of positive real numbers σ .

Proof. Since f and g are generalized ϕ -convex functions on $[p, p + \mathcal{F}_{\rho,\lambda}^{\sigma}(q - p)]$, we have

$$f(p + (1 - t)\mathcal{F}_{v,\mu}^{\eta}(q - p)) \leq tf(p) + (1 - t)f(q) \quad (15)$$

and

$$g(p + (1 - t)\mathcal{F}_{v,\mu}^{\eta}(q - p)) \leq tg(p) + (1 - t)g(q). \quad (16)$$

From (15) and (16), we get

$$\begin{aligned} & f(p + (1 - t)\mathcal{F}_{v,\mu}^{\eta}(q - p))g(p + (1 - t)\mathcal{F}_{v,\mu}^{\eta}(q - p)) \\ & \leq t^2 f(p)g(p) + (1 - t)^2 f(q)g(q) + t(1 - t)[f(p)g(q) + f(q)g(p)]. \end{aligned}$$

Similarly,

$$\begin{aligned} & f(p + t\mathcal{F}_{v,\mu}^{\eta}(q - p))g(p + t\mathcal{F}_{v,\mu}^{\eta}(q - p)) \\ & \leq (1 - t)^2 f(p)g(p) + t^2 f(q)g(q) + t(1 - t)[f(p)g(q) + f(q)g(p)]. \end{aligned}$$

By adding the above two inequalities, it follows that

$$\begin{aligned} & f(p + (1 - t)\mathcal{F}_{v,\mu}^{\eta}(q - p))g(p + (1 - t)\mathcal{F}_{v,\mu}^{\eta}(q - p)) \\ & \quad + f(p + t\mathcal{F}_{v,\mu}^{\eta}(q - p))g(p + t\mathcal{F}_{v,\mu}^{\eta}(q - p)) \\ & \leq (2t^2 - 2t + 1)[f(p)g(p) + f(q)g(q)] + 2t(1 - t)[f(p)g(q) + f(q)g(p)]. \end{aligned}$$

Multiplying both sides of above inequality by $t^{\lambda-1} \mathcal{F}_{\rho,\lambda}^{\sigma} \left[w \left(\mathcal{F}_{v,\mu}^{\eta}(q-p) \right)^{\rho} t^{\rho} \right]$ and integrating the resulting inequality with respect to t over $[0, 1]$, we obtain

$$\begin{aligned} & \int_0^1 t^{\lambda-1} \mathcal{F}_{\rho,\lambda}^{\sigma} \left[w \left(\mathcal{F}_{v,\mu}^{\eta}(q-p) \right)^{\rho} t^{\rho} \right] \times \\ & \quad f(p + (1-t) \mathcal{F}_{v,\mu}^{\eta}(q-p)) g(p + (1-t) \mathcal{F}_{v,\mu}^{\eta}(q-p)) dt \\ & + \int_0^1 t^{\lambda-1} \mathcal{F}_{\rho,\lambda}^{\sigma} \left[w \left(\mathcal{F}_{v,\mu}^{\eta}(q-p) \right)^{\rho} t^{\rho} \right] f(p + t \mathcal{F}_{v,\mu}^{\eta}(q-p)) g(p + t \mathcal{F}_{v,\mu}^{\eta}(q-p)) dt \\ & \leq [f(p)g(p) + f(q)g(q)] \int_0^1 t^{\lambda-1} \mathcal{F}_{\rho,\lambda}^{\sigma} \left[w \left(\mathcal{F}_{v,\mu}^{\eta}(q-p) \right)^{\rho} t^{\rho} \right] (2t^2 - 2t + 1) dt \\ & \quad + [f(p)g(q) + f(q)g(p)] \int_0^1 t^{\lambda-1} \mathcal{F}_{\rho,\lambda}^{\sigma} \left[w \left(\mathcal{F}_{v,\mu}^{\eta}(q-p) \right)^{\rho} t^{\rho} \right] 2t(1-t) dt. \end{aligned}$$

Now with a simple calculation we obtain that

$$\begin{aligned} & \int_0^1 t^{\lambda-1} \mathcal{F}_{\rho,\lambda}^{\sigma} \left[w \left(\mathcal{F}_{v,\mu}^{\eta}(q-p) \right)^{\rho} t^{\rho} \right] (2t^2 - 2t + 1) dt \\ & = \mathcal{F}_{\rho,\lambda+1}^{\sigma} \left[w \left(\mathcal{F}_{v,\mu}^{\eta}(q-p) \right)^{\rho} \right] + \mathcal{F}_{\rho,\lambda}^{\sigma_1} \left[w \left(\mathcal{F}_{v,\mu}^{\eta}(q-p) \right)^{\rho} \right] \end{aligned}$$

where

$$\sigma_1(k) = \sigma(k) \left(\frac{2}{k\rho + \lambda + 2} - \frac{2}{k\rho + \lambda + 1} \right),$$

and

$$\begin{aligned} & \int_0^1 t^{\lambda-1} \mathcal{F}_{\rho,\lambda}^{\sigma} \left[w \left(\mathcal{F}_{v,\mu}^{\eta}(q-p) \right)^{\rho} t^{\rho} \right] 2t(1-t) dt \\ & = \mathcal{F}_{\rho,\lambda+2}^{\sigma_2} \left[w \left(\mathcal{F}_{v,\mu}^{\eta}(q-p) \right)^{\rho} \right] \end{aligned}$$

where

$$\sigma_2(k) = \sigma(k)(2\lambda + 4).$$

Setting

$$M(p, q) = f(p)g(p) + f(q)g(q), \quad N(p, q) = f(p)g(q) + f(q)g(p)$$

and a suitable change of variable the desired result is obtained. \square

Corollary 3. With the notations in Theorem 5, if $f = g$, we have

$$\begin{aligned} & (\mathcal{J}_{\rho,\lambda,p+w}^{\sigma} f^2)(p + \mathcal{F}_{v,\mu}^{\eta}(q-p)) + (\mathcal{J}_{\rho,\lambda,p+\mathcal{F}_{v,\mu}^{\eta}(q-p),w}^{\sigma} f^2)(p) \\ & \leq M(p, q) \left(\mathcal{F}_{\rho,\lambda+1}^{\sigma} \left[w \left(\mathcal{F}_{v,\mu}^{\eta}(q-p) \right)^{\rho} \right] + \mathcal{F}_{\rho,\lambda}^{\sigma_1} \left[w \left(\mathcal{F}_{v,\mu}^{\eta}(q-p) \right)^{\rho} \right] \right) \\ & \quad + N(p, q) \mathcal{F}_{\rho,\lambda+2}^{\sigma_2} \left[w \left(\mathcal{F}_{v,\mu}^{\eta}(q-p) \right)^{\rho} \right] \end{aligned}$$

where

$$\begin{aligned} \sigma_1(k) &= \sigma(k) \left(\frac{2}{k\rho + \lambda + 2} - \frac{2}{k\rho + \lambda + 1} \right), \\ \sigma_2(k) &= \sigma(k)(2\lambda + 4). \end{aligned}$$

and

$$M(p, q) = f^2(p) + f^2(q), \quad N(p, q) = 2f(p)f(q).$$

Corollary 4. With the notations in Theorem 5, if we choose $g \equiv 1$, we have

$$\begin{aligned} & (\mathcal{J}_{\rho, \lambda, p+w}^{\sigma} f)(p + \mathcal{F}_{v, \mu}^{\eta}(q-p)) + (\mathcal{J}_{\rho, \lambda, p+\mathcal{F}_{v, \mu}^{\eta}(q-p), w}^{\sigma} f)(p) \\ & \leq M(p, q) \left(\mathcal{F}_{\rho, \lambda+1}^{\sigma} \left[w \left(\mathcal{F}_{v, \mu}^{\eta}(q-p) \right)^{\rho} \right] + \mathcal{F}_{\rho, \lambda}^{\sigma_1} \left[w \left(\mathcal{F}_{v, \mu}^{\eta}(q-p) \right)^{\rho} \right] + \mathcal{F}_{\rho, \lambda+2}^{\sigma_2} \left[w \left(\mathcal{F}_{v, \mu}^{\eta}(q-p) \right)^{\rho} \right] \right) \end{aligned}$$

where

$$\begin{aligned} \sigma_1(k) &= \sigma(k) \left(\frac{2}{k\rho + \lambda + 2} - \frac{2}{k\rho + \lambda + 1} \right), \\ \sigma_2(k) &= \sigma(k)(2\lambda + 4), \end{aligned}$$

and

$$M(p, q) = f(p) + f(q).$$

Remark 3. Using the same considerations in the Remark 1 and 2 it is possible directly to find the inequalities established in Theorems 4 and 5 (and corresponding corollaries) for the Riemann–Liouville fractional integral and the classical Riemann integral.

5. Conclusions

In the development of this work, a special definition of generalized ϕ -convex functions has been introduced when considering the class of functions defined by R.K. Raina in [31], from which the hypergeometric function and the Mittag–Leffler function and some others are included. Using this definition and Raina’s fractional integral operator [34], inequalities of the Hermite–Hadamard type and some special cases have been established. With reference to the definition of generalized ϕ -convex sets and the corresponding generalized ϕ -convex functions there is much to investigate in the field of mathematical analysis, in particular with the different possibilities of the parametric values of Raina’s function.

The authors hope that these results will serve as a motivation for future work in this area.

Author Contributions: All authors contributed equally in the preparation of the present work, the theorems and corollaries presented, the review of the articles and books cited, formal analysis, investigation, writing—original draft preparation and writing—review and editing. All authors have read and agreed to the published version of the manuscript.

Funding: This research was funded by Dirección de Investigación from Pontificia Universidad Católica del Ecuador as a part of the research project entitled: Some integral inequalities for generalized convex functions and applications. (Algunas desigualdades integrales para funciones convexas generalizadas y aplicaciones).

Acknowledgments: Miguel J. Vivas-Cortez thanks to Dirección de Investigación from Pontificia Universidad Católica del Ecuador and Jorge E. Hernández Hernández thanks to Consejo de Desarrollo Científico, Humanístico y Tecnológico from Universidad Centroccidental Lisandro Alvarado (Venezuela) for the technical support given in the development of the present article. Also, all the authors thanks to the appointed referees for their appropriate comments in the evaluation of this work and to the editorial team from Symmetry (Journal of MDPI) for the serious and responsible work performed.

Conflicts of Interest: The authors declare no conflict of interest.

References

1. Grinalatt, M.; Linnainmaa, J.T. Jensen’s Inequality, parameter uncertainty and multiperiod investment. *Rev. Asset Pric. Stud.* **2011**, *1*, 1–3. [CrossRef]
2. Niculescu, C.; Peerson, L. *Convex Functions and Their Applications. A Contemporary Approach*; CMS Books in Mathematics; Springer: New York, NY, USA, 2006.
3. Pečarić, J.E.; Proschan, F.; Tong, Y.L. Convex functions, partial orderings and statistical applications. Mathematics. In *Science and Engineering*; Academic Press, Inc.: Boston, MA, USA, 1992.
4. Ruel, J.J.; Ayres, M.P. Jensen’s inequality predicts effects of environmental variations. *Trends Ecol. Evol.* **1999**, *14*, 361–366. [CrossRef]

5. Hernández Hernández, J.E.; Vivas-Cortez, M.J. Hermite-Hadamard Inequalities type for Raina's Fractional integral Operator using η -Convex Functions. *Revista Matemática Teoría y Aplicaciones (Univ. Nac. Costa Rica)* **2019**, *26*, 1–19.
6. Liu, W.; Wen, W.; Park, J. Hermite-Hadamard type inequalities for MT -convex functions via classical integrals and fractional integrals. *J. Nonlinear Sci. Appl.* **2016**, *9*, 766–777. [[CrossRef](#)]
7. Noor, M.A. Some new classes of non-convex functions. *Nonlinear Funct. Anal. Appl.* **2006**, *11*, 165–171.
8. Vivas-Cortez, M. Féjer type inequalities for (s, m) -convex functions in second sense. *Appl. Math. Inf. Sci.* **2016**, *10*, 1689–1696. [[CrossRef](#)]
9. Vivas, M.; Hernández Hernández, J.E.; Merentes, N. New Hermite-Hadamard and Jensen type inequalities for h -convex functions on fractal sets. *Rev. Colomb. Matemáticas* **2016**, *50*, 145–164. [[CrossRef](#)]
10. Du, T.; Awan, M.U.; Kashuri, A.; Zhao, S. Some k -fractional extensions of the trapezium inequalities through generalized relative semi- (m, h) -preinvexity. *Appl. Anal.* **2019**, *2019*, 1–21. [[CrossRef](#)]
11. Hernández Hernández, J.E. Some fractional integral inequalities of Hermite Hadamard and Minkowski type. *Selecciones. Matemáticas (Univ. Trujillo Perú)* **2019**, *6*, 41–48.
12. Jleli, M.; Samet, B. On Hermite-Hadamard type inequalities via fractional integral of a function with respect to another function. *J. Nonlinear Sci. Appl.* **2016**, *9*, 1252–1260. [[CrossRef](#)]
13. Aslani, S.M.; Delavar, R.; Vaezpour, S.M. Inequalities of Fejér type related to generalized convex functions with applications. *Int. J. Anal. Appl.* **2018**, *16*, 38–49.
14. Chen, F.; Wu, S. Several complementary inequalities to inequalities of Hermite-Hadamard type for s -convex functions. *J. Nonlinear Sci. Appl.* **2016**, *9*, 705–716. [[CrossRef](#)]
15. Delavar, M.R.; De La Sen, M. Some generalizations of Hermite-Hadamard type inequalities. *Springerplus* **2016**, *5*, 1–9.
16. Kashuri, A.; Liko, R. Some new Hermite-Hadamard type inequalities and their applications. *Stud. Sci. Math. Hung.* **2019**, *56*, 103–142. [[CrossRef](#)]
17. Omotoyinbo, O.; Mogbademu, A. Some new Hermite-Hadamard integral inequalities for convex functions. *Int. J. Sci. Innov. Tech.* **2014**, *1*, 1–12.
18. Xi, B.Y.; Qi, F. Some integral inequalities of Hermite-Hadamard type for convex functions with applications to means. *J. Funct. Spaces Appl.* **2012**, *2012*, 1–14. [[CrossRef](#)]
19. Hristov, J. Response functions in linear viscoelastic constitutive equations and related fractional operators. *Math. Model. Nat. Phenom.* **2019**, *14*, 1–34. [[CrossRef](#)]
20. Kumar, D.; Singh, J.; Baleanu, D. Analysis of regularized long-wave equation associated with a new fractional operator with Mittag-Leffler type kernel. *Phys. A Stat. Mech. Appl.* **2018**, *492*, 155–167. [[CrossRef](#)]
21. Owolabi, K.M. Modelling and simulation of a dynamical system with the Atangana-Baleanu fractional derivative. *Eur. Phys. J. Plus* **2018**, *133*, 1–15. [[CrossRef](#)]
22. Mihai, M.V. Some Hermite-Hadamard type inequalities via Riemann-Liouville fractional calculus. *Tamkang J. Math.* **2013**, *44*, 411–416. [[CrossRef](#)]
23. Mubeen, S.; Habibullah, G.M. k -Fractional integrals and applications. *Int. J. Contemp. Math. Sci.* **2012**, *7*, 89–94.
24. Özdemir, M.E.; Dragomir, S.S.; Yildiz, C. The Hadamard's inequality for convex function via fractional integrals. *Acta Math. Sci. Ser. B Engl. Ed.* **2013**, *33*, 153–164.
25. Set, E.; Noor, M.A.; Awan, H.U.; Gözpinar, A. Generalized Hermite-Hadamard type inequalities involving fractional integral operators. *J. Inequalities Appl.* **2017**, *169*, 1–10. [[CrossRef](#)] [[PubMed](#)]
26. Wang, H.; Du, T.; Zhang, Y. k -fractional integral trapezium-like inequalities through (h, m) -convex and (α, m) -convex mappings. *J. Inequalities Appl.* **2017**, *311*, 1–20. [[CrossRef](#)]
27. Bracamonte, M.; Giménez, J.; Vivas-Cortez, M. Hermite-Hadamard-Fejér type inequalities for strongly (s, m) -convex functions with modulus c , in second sense. *Appl. Math. Inf. Sci.* **2016**, *10*, 2045–2053. [[CrossRef](#)]
28. Vilorio, J.M.; Vivas-Cortez, M. Hermite-Hadamard type inequalities for harmonically convex functions on n -coordinates. *Appl. Math. Inf. Sci. Lett.* **2018**, *6*, 53–58. [[CrossRef](#)]
29. Vivas-Cortez, M.; García, C. Ostrowski Type inequalities for functions whose derivatives are (m, h_1, h_2) -convex. *Appl. Math. Inf. Sci.* **2017**, *11*, 79–86. [[CrossRef](#)]
30. Vivas-Cortez, M. Relative strongly h -convex functions and integral inequalities. *Appl. Math. Inf. Sci. Lett.* **2016**, *4*, 39–45. [[CrossRef](#)]

31. Raina, R.K. On generalized Wright's hypergeometric functions and fractional calculus operators. *East Asian Math. J.* **2005**, *21*, 191–203.
32. Erdelyi, A.; Magnus, W.; Oberhettinger, F.; Tricomi, F.G. *Higher Transcendental Functions*; McGraw-Hill: New York, NY, USA, 1955; pp. 1–301.
33. Lebedev, A. *Special Functions and Their Applications*; Dover Publications, Inc.: New York, NY, USA, 1972; pp. 1–322.
34. Agarwal, R.P.; Luo, M.J.; Raina, R.K. On Ostrowski Type Inequalities. *Fasc. Math.* **2016**, *56*, 5–27. [[CrossRef](#)]
35. Sarikaya, M.Z.; Yaldiz, H. On weighted Montgomery identities for Riemann-Liouville fractional integrals. *Konuralp J. Math.* **2013**, *1*, 48–53.



© 2020 by the authors. Licensee MDPI, Basel, Switzerland. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC BY) license (<http://creativecommons.org/licenses/by/4.0/>).